N = Ol & A

201285 =20a =S AISSESH &H
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2 Ml A

SN AR
BB AST - AL
Sl ASTAR (ASEASSEEIH) (el &2
_ _ SIEN
SN -EHH . (B) - MPAY - BE2 0 Ak o4 0Ol At o8 Hn=2
220 26,046,234 21,659,057 4,387,177
= 1,862,990
Al 24,183,244
o - Algig] 16,046,225 12,554,526 3,491,699
= 1,862,990
A 14, 183,235
AT A (AT AISSES) 16,046,225 12,554,526 3,491,699
= 1,862,990
A 14,183,235
axE 29 N 7,000 107,800 100,800
203 2= Y| 7,000 7,000 0
03 A=A AR =] 7,000 7,000 0
O+ A 7,000,000& 7,000
ANE2S 1,116,150 1,565,500 A449,350
206 M= 4l 503,000 470,600 32,400
01 =8l 503,000 470,600 32,400
SEEBEY 1,000
PR U SN BEE A2E DY(HABT,
FelA, mWALA) 100,000& 20& 2,000
PAERY BHTY PY(LUHAL 3F)
3,000,000& 35 9,000
O3=F+& d8x 41,000,000& 122 492,000
308 XX HHMS0IA 262,000 240,000 22,000
05 UHXHHARE =S 262,000 240,000 22,000
OHMY N+ BelHg 293
120,000, 000& 120,000
OM+2E572% ZoNAANY B2 (YL
142,000, 000& 142,000
401 Al EHIZ 2OHY| 351,150 854,900 A508,750
01 A& HI 351,150 854,900 A503,750
OF+E DHEDZ 424 28 B+l
4,000, 000% *5CH 20,000
OFH . Z4T, 4K, 2INLF AL X
24 10,000,002 *107H 2 100,000
OREHLT 445 NES SN2
50,000,000& * 14! 50,000
ORETLF 2 JUIAY 19, 150,0008 14! 19, 150
OREZLF, H4T 22 N 223N
22,000,000& * 14! 22,000
OF.Z4Z, IIIHLH JIH, MII&H KX
] 10,000,000 *107H 2 100,000
OARE FLH(MEY, HeH) Na2 SN2
5,000, 000& *2H 2~ 10,000




SN AR
BB ALT - AL
Sl ASTAR (ASTASSEEI) (el &2

SO (B H) - HEAY - B2 Al OH &EIE Hn=2
O At 22 AMEES 31 £ && &l
30,000,000 * 14! 30,000
=2t 8,021,305 7,067,332 953,973
206 M = 8| 7,776,865 7,021,332 755,533
01 M=l 7,776,865 7,021,332 755,533
Ot = 4l 22,000
D& H-E 2 MM P (SAl, W
=29|) 1,000,000& 155 15,000
DEMK, LA HLAE UM U (AHSA
2/) 100, 000& * 1074 1,000
DASEAY & =NF 2 600,000&8+105 6,000
O%ZEH| 120,000
D> & =2 ZH| (PAHCS2| 38)
2,500,000 x4 &5 +12& 120,000
OTMLE LT
49,750& +360& *3652 *110% 7,190,865
ORFESH ¥z 37,000,000& x12& 444,000
207 A 2OH | 43,000 46,000 A 3,000
01 232 E 9| 43,000 46,000 A 3,000
OR2Y M23gds8aE AId=2 2 o™ R
AMSHY 15]/54) 18,000, 000& =14 18,000
OdFH . F+Z ANEE o™ HB(AMSHY 138/
2d) 5,000,000 * 14 25,000
401 AIEHIZ 20HYI 201,440 0 201,440
01 Al &l 200,000 0 200,000
OMcHB+=F Kot 2F L3 AHV=300E/<
) 200,000,000 * 14 200,000
03 AI& 2 0HHI 1,440 0 1,440
OMcHB4+=F Xlota 2F L3 AHV=300E/<
) 200,000, 000& *0.72% 1,440
=T ANE & %X 2,707,400 3,219,240 A511,840
206 M Z 8l 446,000 431,000 15,000
01 =l 446,000 431,000 15,000
Oz =& MEbl(F=2X)
280,000& 2508 70,000
Oxgg ARE FA(S=X)
100,000 *20& 2,000
OJIEt 228 g 2 (X))
500,000& 208 10,000
OAEI so EX HoH +
10,000& 2, 00074 20,000
OSMAEE L UHMEH 2 (F2X)
20,000,000 * 14! 20,000
OF=2IYE deE =z 18,000,000& = 12& 216,000




SN AR
M MG . AL
Sl ASTAR (ASTASSEEI) (el &2

AN - XM . cle (s HEAIS - HAN 2 A} OH HEE Hl o =2t
OSHIY & MHZ[6HA]
9,000,000 x12& 108,000
207 Ao Hh| 70,000 30,000 40,000
01 d2E | 70,000 30,000 40,000
O&=+5% GISB RAE> Y
10,000, 000& *7km 70,000
301 LB A= 5,000 5,000 0
12 J|EIE2 &3 5,000 5,000 0
OR%z==+ ¢l XAz 5,000,000& 14 5,000
305 HH&a3S 6,000 11,000 25,000
01 a2 =S 6,000 11,000 A5,000
OAZE S5 T6) 21200 Ea3
5,000, 0002 =14 5,000
O&ax=EHZEI A BIA MOl B3
200, 0003 x524 1,000
401 A& HIZ 20HYI 2,180,400 2,592,240 A411,840
01 A& HI 2,175,000 2,560,000 A 385,000
Ok= AEIl WH 80,000& x1,500& 120,000
OH™ HSI| 2 HH 400,000& 504 A 20,000
Ok=s ==z 1A 1,000, 000-& *30094 2 300,000
O Itg L& =713SAt 800, 000& x50 2~ 40,000
OHs HE B3I A 3,000, 0002 *5J4 2 15,000
OHM=8 #I B3 A 250, 0003 *4004 2 10,000
O23d B At 2,000,000& *15JH 2~ 30,000
oz etae FAES=BAl
1,000, 0003 *80H & 80,000
Odld S At 1,000, 000& *800AH 800,000
OXga-Z (2. the2) &SAS[3.0km] (S 3t
el S 3Ma) 400,000,000& * 14! 400,000
OAIJERI 212 e (S FHUX)AE [2.5km]
350,000,000 * 14 350,000
OF<9=&H J1H &I1&d] |RX4
10,000, 0002 * 14 10,000
03 AI& 201l 5,400 12,240 A6,840
OXNgasZ (2. =) SEAY
400,000,000 *0.72% 2,880
OADIIX 21 A (S FAX)AIY
350,000, 000& *0.72% 2,520
=5 g3 =+ 321,360 274,222 47,138
303 &3 17,000 36,000 A 19,000
01 &2 17,000 36,000 A 19,000
ON4523 ALY B4 SR TA2
3,000,000 43| 12,000




SN 4R
M MG . AL
SRl MATAY (MSTAYSHEIN) (e @
_ - HEE =
SA - H L SR(SH) - HRAMY - BS 0 & 24 e HRE2
OZZ Mo+E23 =8 S MY S0 243
5,000, 0002 5,000
307 212H0| & 99,360 70,222 29,138
05 Q12913 99,360 70,222 29,138
OBSZL(2US T8 4L+THZI| 2122
S AE A 52521 %9, 200% * 122 57,960
OPIXIY MASHI| DI HE HHAL
bl 2,30021+1,500% 122 41,400
401 Al 2B 2O 185,000 148,000 37,000
01 Al &bl 185,000 148,000 37,000
OM%EHZ)| SANVSABAAY 20 2 &
7l 85,0002 *1,000% 185,000
802 81 &2 I E 20,000 20,000 0
03 HRL2S 20,000 20,000 0
OTEE A2ETQ3 WY e
20,000,0002 20,000
HASE SHS42 HZAR[100H7] 22,000 0 22,000
=2 11,000
Al 1,000
401 A2 HIL 2O HI 22,000 0 22,000
=2 11,000
Al 11,000
01 Al &bl 22,000 0 22,000
OMASE SUHSH2 HBAR 22,000,0008 22,000
= 1,000
Al 11,000
M4R 25T FOIKR ALY 163,300 100,000 63,300
=2 48,990
Al 114,310
401 A2 HIL 20| 163,300 100,000 63,300
=2 48,990
Al 114,310
01 Al& | 163,300 100,000 63,300
OM48 2579 =0l XA
163,300, 0002 163,300
= 48,990
Al 114,310
DR HEX M4T HEANA[2DHS] 1,803,000 0 1,803,000
= 1,803,000
401 A2 HIL 2O HI 1,803,000 0 1,803,000
=2 1,803,000
01 Al &bl 1,803,000 0 1,803,000
OPHY HEX A4E HEAA[2DHS]
1,803,000,000%! 1,803,000
= 1,803,000




M Y2
ME AAE . ALY
Bl AT A (AT AIEEESA) (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
T ° - = = &= 0:”/&,% WS
FH.B=ANE HESAS 224,000 0 224,000
401 Al Bl 2 CHHI 224,000 0 224,000
01 A& HI 224,000 0 224,000
OF=F HM2AHZ HEX ZAHE DM (1K)
130,000, 000& * 1Kl 130,000
ORFFAF o 22U FRIY Lol
W3 At 10,000, 000& *3H 2~ 30,000
OHBAL A ST (4, 01 EH, 2ote)
10,000, 000& *37H £ 30,000
ONEEAT ABET DUSAN(AZED 400
) 20,000,000& *14! 20,000
Od==8=+% §&H &X 14,000,000& * 14! 14,000
FFd BT = AE AXAY 955,670 0 955,670
401 A& HIZ 2 CHHI 955,670 0 955,670
01 A& HI 900,000 0 900,000
OZYHi =Xl &XI3A 900,000, 000& » 14 900,000
02 Zeltl 50,000 0 50,000
O2Y ==Xl &XI3At 50,000,000& * 14! 50,000
03 Al 2 0Hd| 5,670 0 5,670
OFYti =Xl &XI3A 900,000, 000& *0.63% 5,670
NgataE 2Z A4 HEALY 705,040 0 705,040
401 A& HIZ 2 CHYI 705,040 0 705,040
01 A& HI 700,000 0 700,000
OLZE =2 DHSAH(RUE S)Z )
300,000, 000& » 14 300,000
O=< g 25 & AlE HESA
400,000,000 * 14 A 400,000
03 Al 20l 5,040 0 5,040
OL= =2 WHBAt 300,000,000 *0.72% 2,160
O=% g 25 & AlIE HESA
400,000,000& *0.72% 2,880
Heags(gm) 2,098,420 2,018,455 79,965
BEINE (AT AILEEIA) 2,098,420 2,018,455 79,965
Kl 2k rH &f & 2,098,420 2,018,455 79,965
311 Xt SO0 Xratk & 368,420 412,325 A43,905
02 Al - &+ RXHMLIISXHL SOl AH&E 175,500 234,000 A 58,500
OX<EILII= Okt 175,500, 000& *12] 175,500
06 J|Et Xt = Of A&k 2t 192,920 178,325 14,595
OSN3 2elIS(FMS) OIX
192,919,840& 192,920
601 Xt S A& E 1,730,000 1,606,130 123,870




2N QR
Hu: H2ES (A2
€l BEEXES(4+=ZAESEESH) (el &)
SNBSS NRAY - B2 0] &F o e HlE2
02 Al -2 - FXNSEHLI =SS 1,300,000 1,300,000 0
OXgHLl2 4= 1,300,000,000& =13 1,300,000
06 JIEt=UXt =B =4a & 430,000 306, 130 123,870
O2sk=2cllzs 33 &
430,000,000& 13l 430,000
HY2AHH (HR) 7,528,509 6,746,567 781,942
A2IH (A AL SEIAH) 6,047,481 5,386,101 661,380
ARG 3| 6,047,481 5,386, 101 661,380
101 21 24H| 5,031,185 4,513,194 517,991
01 2= 2,914,160 2,911,072 3,088
O 1. 27122 2,115,623
D> E= (2830, J1529) 1,871,663,000& 1,871,663
PSP Pkl 1,871,663,000& *5% 93,584
DE2s+E 1,804,510,0002 /12%100% 150,376
O 2 =g 474,055
DEZEI= 68,640,000& 68,640
DotE=4 70,800,000 70,800
DAUESHIEE S 20,817,000& 20,817
PURSLI_=Y  1,804,510,000% %4, 1%*1/2 36,993
D&+ 50,0003 »582!x12& 34,800
DA Z[=E A A
20,000& 421 % 12& 960
DRBZRZ(2E) 40,0003 #2421 x12& 11,520
DEUIRE 229,525,000& 229,525
O 3. AUz Aldl 92,040
D> E MG A 130,000& #5901« 122 92,040
O 4. 250t 180,451
>EEFOH 1,804,510,0002 /12%120% 180,451
O 5. AItE 4| 51,991
D> IOt &I 1,871,663,000& /12/30x10L 51,991
02 JIEF& 2= 1,148,477 714,672 433,805
Oo1. 2122 767,106
>E=2 (1569 014 304 018, 205)
2,350,200 2401 %123 676,858
PSP Rl 676,858,000 & *5% 33,843
PEIZH 676,858,000 /12%100% 56,405
O2. =% 257,443
DEIZEI= 29,040,000& 29,040
DotE4 28,800,000& 28,800
DAUHSHI B+ 8,469,000& 8,469
D&EA+E 20,0003 #2401+ 123 5,760
>etEE 40,000& 121123 480




FA: R0
M WE2AZIH(A2D)
Sl QAU (ALTAHSEEI) (Erol: @2
DA HB L CP(E) - HRAY - BAS 01l &+ o4 Soe s
DX 30,000&*201x12& 720
R ] 184,174,000& 184,174
O3. ZAgAlHl 37,440
> ZHZ A 130,000 #2401 %123 37,440
O4. ZE IOt 67,686
>EEF O 676,858,000 /12%120% 67,686
O5. HItE 4] 18,802
D> o1 Ot &HH| 676,858,000& /12/30x10L 18,802
03 RIAHAZZNHE = 957,604 876,962 80,642
oJl=s 45,6003 32021 x252 367,719
(OF-O = 367,719,000 *4/12 122,573
O=Fs=g 45,6003 32021 x52 75,879
Oxzu2f=¢ 122,685,000& 122,685
OetItE &I 45,6003 3221 x10 14,592
Ozadl & WsSEXHl 100,000 3221 «12& 38,400
ool 85,680,000& 85,680
(O)SESE=, 5,000,000& 82! 40,000
Q1= 9,510,000& 9,510
O=0A=Z2E3 741,848,000 *4.5% 33,384
OIUHLEEREZ 741,848,000& *2.82% 20,921
OLoEIQABEHRES 20,921,000 *6.55% 1,371
(@IE=Jh=R=R == 741,848,000 *1.95% 14,467
OdAMMai 28 = 741,848,000 *1.405% 10,423
04 JIZtHZ22XRSES 10,944 10,488 456
O .F4+%, SUANSY 27 I (MEXL
g) o= 45,6003 621 x 1071 A x4 3] 10,944
204 MR =AY 130,320 125,400 4,920
02 =22l 130,320 125,400 4,920
O ZExHI 130,320,000& 130,320
303 &=z 180,000 180,000 0
02 &3 180,000 180,000 0
(OF= NP0 = 180,000, 000& 180,000
04 H=RE=S 705,976 567,507 138,469
01 =823 571,644 451,622 120,022
OJI=E == 4,372,957 ,000& 7% 306, 107
OEd3 4,372,957,000& *2.337% 102,197
O A=E2E3 4,372,957,000& *3.6562% 159,885
OMoEARE S 4,372,957,000& *0.079% 3,455
02 ZCIAAEE = 134,332 115,885 18,447
OIZUHLBEREZ  4,470,707,000& *2.82% 126,074




SN AR
By HHSAAL (YLD
Sl QIS (A4S TASSESIH) (el &2
_ - A =
A HH . CR(S) - NRAY - BHLS 0 Ak o4 il b o HRE2
OwolEileueasya
126,074, 00021 +6..55% 8,258
Jl2dyl (4T AL EE3IH) 1,481,028 1,360, 466 120,562
Jl=&dl 1,481,028 1,360,466 120,562
201 Et2dd| 1,208,268 1,154,856 53,412
01 AR 22l 568,470 535,820 32,650
O1 L= 315,700
PEN 29 +SH(YLD])
1,500,002 122 18,000
DEEANDII ADE U ARE HEL
10,000, 000& 10,000
>3 24 ZAL =8 8,500,000& *13] 8,500
>BIIY CI4 W LA Ol
700,000 »83 5,600
>eBUT2IY A5 ATE0 70H
2 &S5t 36,000,000& » 14! 36,000
DRaZelE20d 2OJ|522 AZEAN
S 20,000,002 14! 20,000
DaSte=ER= AN ¥ SEE QM-
75,0003 x20=t A 128 18,000
>ASIAEZRS I BE 2E HA M
1,000,000& 83 8,000
DA S 23 B AZ 22 M|
1002 x2&+80,0000H 16,000

70,0002 %504 3,500
PAAHDE ADE Y L LYl
300, 0002 *30CH 9,000
DEAM DETRIE ADE DUH(EHL 9
z) 700,0002! * 105 7,000
PHENES HEILASX 2UH(LE ¥
oz o) 1,000,0002! 1,000
>ATHHEERS ABIIE NUE 242
1,420,0002 %122 17,040
DASIEER3 NSOH dY 448
5021 %15,00021 * 128 9,000
DABIAEERFZ MAIZ IAHE 018 242
802 #5,00021* 122 4,800
PASHE £5] NHIA 018 442
2,640,009 2,640
DOIS HRAR NHIA 018 242(LE .5
AR 5,500,00024 5,500
DHAT NS Bl AA 242 (4.5
B 4,000,000 +25| 8,000
POEHAHAAL HASE £TAMN 44
2(T0c2l 3%) 350, 0002 * 123l 4,200




FA: R0
ME: BHSYA (YLD
Gl JI2ZH (A= ALEESA)
SA BB CR(SH) - NRAY - A S Ol o e
0 4 o
DA 2EHA =25 (PCBR 3F)
250,000 *43| 1,000
PENZEAM 2 50,000& x4E 200
DAREZ I RABI(H.B&, SHAL
Zh) 350,000& *1038 3,500
DASEE AFR 2 L ME(H.E2E, S
AL ) 50,0003 *42] * 1304 2 2,600
DALE ARF PU(F.E+H, SHALE
) 500,000& »23] 1,000
DRIH nd 2 A =22(F.82%, S
HALSE) 600, 0002 «17CH 10,200
DAY ¥ SO0IAE HIIHAM =2
60,000 «7CH 420
DEST XItE &II&H M =5 (4.6t
gtJ]) 4,300,000& 23| 8,600
DELAMEBAS(LLINA) HAF =22
200,000& »23| 400
DESOHE U G (20X) BA 442
200, 000& x243| 4,800
DOle 2 AF LAY BA L4B
500,000 =43 2,000
D2 2 BOM Y2H(aF A . HelE
=&, DISaxg) 300& *20,0000H 6,000
bAES HO ERS(2UQY 2F) MT 7Y
5,000,000& 38 15,000
DRI Mojgtd e e =2
700,000& 128 8,400
PS8 ALE MIOMBE Y 442
600,000& x12& 7,200
Danl JISE M)tz HE =2
700,000& x12& 8,400
DS/N(EAH &) 2 5,000, 000& 14 5,000
DEAM 2 =EHl(+==1)
1,600,000& x12& 19,200
O2. 8L =H 5,700
DEJIgtE et ¥ EXAR WS
100, 000& 72! 700
D> 1SO A= & AMHI, A4 AAHI 2 W =H|
5,000,000& =13 5,000
0O3. 2g=¢ 49,820
DY =xag 50,0003 2021480 48,000
DoIZtets =E A 212t21 (bl
70,000& »23| 140
D= EIIRIES 4 =€
70,000& 122123 1,680
O4. 1=l 20,720
DIIAHA 2L (H==F) 360,000& »40I 1,440
DEIALBE(FEF) 250,000& 8021 +2H 4,000
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SA: LR
I3 YH2IPY (Y2
tel: D22 (A4S AMLSEESIH)
SN EY O (BH) - MRAY - BLS 01l & o Bl
Gil & o
DESH AIBZE 160,000 =18 A~ =12 34,560
DREgE L ASMOIRI0IZ AIFE(7THL)
130,000& x12& 1,560
DRI E TAIIMA 22 100,000& x12E 1,200
DAAE JIgE MRS
230,000 =180 A= 12& 49,680
PYES Do 24 BH IS (M4 3.1
+=2Z2) 15,000, 000& * 14 15,000
DRAIAANAE SAHI &=
50,0003 +3 A+ 12& 1,800
DRAAAE Mot S&]
32,000& x5 A+ 12 1,920
>Ils=sclg g8t Y O|lsd=
300,000& x12& 3,600
DRAEAFEA MRS
30,000 * 1700 =12 6,120
PRARYN VA BE S
200,000 x40 212 9,600
> Xt= XA 100, 000-& =4CH 400
DS BEE 700, 0003 +4CH 2,800
DASXt S3MMAREZ 50,0003 #40H 23] 400
O2. Azl 51,177
DE=F JIHA ¥ AR A=
72U x24 A 2bx1, 3433 x50 & 11,604
DEAR Y U RS0
72U 24 A 2H+1, 3433 50K A 11,604
DESE LPG AHEZ 50,0003 * 12 201 & 1,200
DS ALAE U TRISH v 220
72U 24 A 2H+1, 3433 x90H A 20,887
>E% & 23X LPG AABZ
50,000 *12& =44 A~ 2,400
DIlsselgt HEE fF7
72U *18AI2bx1, 343 21 & 3,482
O3 A& &l Xl 407,408
>E AL SA22d] 15,000, 000& 15,000
>3ISALE 7 EH 5,000,000& 5,000
DEESEAMN AL 2F  1,730,0002 201 %123 41,520
DaStEeaHe T2 SAES]
1,200,000& x123 14,400
DaAIZE DA H S EHAIAE 29 AHH /X
2=l 330,000& x12& 3,960
Dadt=ERa AEIHE ZHALE SN2
=l 400,000&+10& 4,000
DAGHrERSE 2d FAMOIE FAE=H
500, 000& »2& 1,000
> &ADD] s RI2eld 700,000& »10CH 7,000




SN YD
M HASAAY (YD)
S J2dH (AT AIHEESIH) (428
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- (=] - T - = S = o = 0:”/&,% Wsa
DELZZ U HSZ S X
1,200,000 «3& 3,600
DFELE 24D SU0IE EX
5,000, 000& 23| 10,000
bEHANT Q HAN S gRNS =M
4,500,000 %20 A *x13) 9,000
DALRAPS A QA UAl AIEES KAH|
1,500,000 204 A 3,000
DUBEUAS U SEASEHTR RAHI(
AAEQAD|Q 95) 2,000,000& 10 20,000
Do A 3,572,000 71 A %23 50,008
DAMaEALESE E’EHI/\IAE&! SAse 2
& 4,160,000 « 120 & 49,920
DHIES4 HMeld ZZ¥X, 38X E =2 HA
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